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U0S! 30.800 29.400
[_NUO5 30,800 28,400
[ NU061 30.800 23,500
[ NU063 30.800 23,500
U065 30.800 23,500
iR (FRE) % | _NUOSO 30.800 23,500
[_NU052 30.800 23,500
[_NU054 30,800 23,500
[_NU058 30.800 28,900
[_NU060 30,800 29.400
U062 .800 28.400
RR(CAE)=8H R (HH) uo21 .000 55.700
Rt U022 .000 55.700
R (CHE)=AXE HE CHE) % U091 38,600
ARBF U090 29.200
KBz (B#E) =R 1E KB (F7E) % U083 | 48,800
GiE% U086 |_48.800
INA=REE (BRER) IV U037 | 3EAETN 3HEI | 46.200
S (IR ER) % u 3HE | 3Hm | 7 |_46.200
BEE (PR =H4E (BH)| BHE (PE) R [_NU 39.800
u 39.800
u 30,300
u 30.200
ik (RER) R U 26.100
u 39.800
u 39.800
u 39.800
FEIL=548 () ] LLy 5 EEE] 39.400
S (IR ER) % 3HEE | 7 [_39.400
FIER D= ol R % [ 10,000
|_10.600
B B [_10.600
= [_10.600
B 9500
= [ 9.400
B [_10.000
RER B [_10.000
B [_10.000
= 9.400
B 9400
= 9500
B 10.600
= |_10.600
SEE(BRE) =TS G IE IS B8
EER B8
RBBR=AKE G IE TS 3H B
38 78 —
ZRER 38 7H
38 78
38 78 —




MeEERI511/3/7 BER (BRI~ 12BHEESD) JTA
EREAE 2019/04/26 ~
. N N N 8/9 8/10 8/11 8/12 ]
= g |7 AR AT AR A O e A el 7 Ry (R (7 AL eI 7 (R AL |7 ARy Ry R ey MBI SR a7 (REI7D
S¢n Eﬁgﬂi E?gﬁ ENA | B | BN | BV | B | BNH | B | B4 | ERH | SN | BNE | ERE | B4 | SRS | ENE | BN
S (IR ER) % U090 700 29.700 800 26.700 39.700 | 37.000 | 29.700 39700 | 37.000 | 29.700
KBk (BI7E) % |_NU0OT 200 35,500 200 38,000 40.700 | 39.000 | 38.700 38200 | 38,000 | 37.000
[_NU00S 200 35,500 200 37,000 38200 | 38.000 | 37.000 38200 | 38.000 | 35.500
U009 200 35,500 200 35,500 38200 | 36500 | 35,500 38200 | 36,500 | 35,500
TR GIREE % | _NU002 200 35,500 200 35,500 38200 | 36500 | 35.500 38200 | 36500 | 35.500
[_NU004 200 35,500 200 35,500 38200 | 36500 | 35,500 38200 | 36,500 | 35,500
U008 200 35,500 200 35,500 38200 | 36500 | 35.500 200 | 36.500 | 35500
WRCRR) =R\ HR(FE)F Uo7 63.400 59,000 63.400 59,000 63400 | 60.000 | 59.000 400 | 60,000 | 59,000
uo7: 63.400 59.500 63.400 59.500 63400 | 60.000 | 59500 | — 1400 | 60,000 | 59.500
hiER Uo7 63.400 59.500 63.400 59.500 63400 | 60.000 | 59,500 400 | 60.000 | 59,500
Uo7 .400 59.500 400 59.500 63400 | 60.000 | 59.500 1400 | 60,000 | 59.500
BE= R E) RER NUO5 .800 28,900 .800 28,900 33100 | 33.000 | 30.100 30800 | 29,900 | 28.900
U0S! .800 29.400 .800 29.400 33100 | 33.000 | 30.000 30800 | 29.900 | 29.400
[_NUO5 .800 28,400 .800 28,400 30.800 | 28900 | 28.400 30800 | 28,900 | 28.400
[ NU061 .800 23,500 .800 28.400 30.800 | 28900 | 28.400 30800 | 28900 | 28.400
[ NU063 300 23,500 800 28,400 30.800 | 28900 | 28.400 30800 | 28900 | 28.400
U065 .800 23,500 .800 28.400 30800 | 28900 | 28.400 30800 | 28.900 | 28.400
R (BB % |_NU050 800 28,400 .800 28,400 30.800 | 28900 | 28.400 30800 | 28900 | 28.400
[_NU052 .800 28.400 .800 28.400 30800 | 28900 | 28.400 30800 | 28900 | 28.400
[ NU054 300 28,400 .800 28,400 30.800 | 28900 | 28.400 30800 | 28900 | 28.400
[_NU058 .800 28.400 .800 28.400 30800 | 28900 | 28.400 30800 | 28900 | 28.400
[_NU060 300 29.400 .800 29.400 30.800 | 29.900 | 29.400 30800 | 29.900 | 29.400
U062 .800 28.400 .800 28,400 .800 | 28900 | 28400 .800 | 28900 | 28400
RRECAR)=8H B CFIH) $ U021 .000 59.100 .000 63.800 — 000 | 63.900 | 63.800 — 000 | 63.900 | 63.800
T U022 .000 .000 57.800 000 | 58000 | 57.800 000 | 58000 | 57.800
RERCAE)=AXE R (HH) % U091 50.100 .000 45.700 .000 | 46.200 | 45700 |_45.700
AKBH U090 42.700 800 29.700 42.700_| 40000 700 700
KR (B#)=F18 ABR (BATE) 5 U083 52.200 2.200 | 5 | _48.800 — 52.200 | 52.100 | 48.800 | _48.800
GiE% U086 52.200 52.200 8.800 52200 | 51500 800 .800
M= EE () NN uod7 | 3HET | 3BH] 7.500 7500 | 4 47.300 7.500 | 47.400 | 47.300 .200
S (IR ER) % u 3EET | 3HAT | 7 7.500 7.500 7500 | 47.100 .700 300
BEE (PE) R (I8)| &5 E (PE) % | NU 200 200 200 | 45,100 | 45,000 000
u .200 .200 200 100 ,000 ,000
u 200 200 .200 | 41.600 | 41500 500
u .200 .200 200 1600 500 1500
RE) £ U .200 .200 200 | 41,000 | 33300 .300
u .200 200 | 4 200 300 .000 .000
u 200 .200 | 4 [ a1 .200 | 42300 | 41.000 .000
u .200 .200 .200 300 .000 .000
B LL=;h#8 (AR &) [EIES 200 200 200 ,000
S (IR ER) % 7 .200 .200 .200 .000
W RH) =H1E RE) £ .000 .600 .600 800
400 .400 400 .80
B 400 .400 400 801
= 400 400 400 801
B 000 600 600 80!
= 000 600 .20
B 000 600 80!
AER = 000 100 .20
B 000 100 .20
= 000 100 .50
B 000 100 .50
= 000 100 00!
B 400 600 60!
= 400 600 601
() =B G IE IS =] .900 .900 .70
= .900 .900 0.70(
B 900 900 0.70¢
= .900 .900 0
B .700 .700 0
= 1.700 1.700 0
B 1.700 1.700 0
= 1.700 1.700 0
EEES B 1.700 1.700 0
= 1.700 1.700 0
B 1.500 1.500 0
= 1.500 1.500 0
B 1.700 | 1 1.700 0
= 1.700 1.700 0.70(
B 1.700 1.700 0.70¢
B .700 0.70(
iR (R =AKE G IE TS E] .600 0.40
78 600 10,40
AkBH 78 600 10.40(
78 600 10,600 | 10,500 | 10,401
78 600 — 10.600 | 10500 | 10.40




MHEERIS11/3/7 1 BER (8A13~16BHEFS)
EREAE 2019/04/26 ~
N N N N 8/13 8/14 8/15 8/16 ]
- g [T AR R QR O e o A Elrs Bt TR (R AR (7 AL BT AR iy (R r s Es L7 ALy (REI7D
x| s R | B8 | | B | R | A | SR | SR | SR | S | SR | SR | 8Rs | @R | SR | whE | SR | BRE | EEs
S0 (AR % U090 - 39.700 34,500 39.700 34,500 39.700 | 37.000 | 36.700 .700 36.700
KBk (BI7E) % |_NU0OT 38,200 35,500 38,200 35,500 38,200 | 36,500 | 35,500 200 35,500
[_NU00S 38.200 35.500 38.200 35.500 38.200 | 36.500 | 35.500 200 35.500
U009 38,200 35,500 38,200 35,500 38,200 | 36,500 | 35,500 .200 | 36 [_35.500
TR GIREE % | _NU002 38.200 35.500 38.200 36.000 38.200 | 38.000 | 36.000 200 6.000
[_NU004 38,200 35,500 38,200 36,500 38,200 37,500 200 [_37.500
U008 38.200 35.500 38.200 37.500 38.200 37.500 200 7.500
Rm(PE)-R&E R (AE) % uo7 63,400 59,000 63,400 59,000 63,400 59,000 3,400 59,000
uo7: 63.400 59.500 63.400 59.500 63.400 59.500 63.400 59.500
hiER Uo7 63,400 59,500 63,400 59,500 63,400 59,500 63,400 59,500
Uo7 63.400 59.500 63.400 59.500 63.400 59.500 .400 59.500
EE- R B RER NUO5 30,800 28,900 30,800 28,400 30,800 28,400 800 28,400
U0S! 30.800 29.400 30.800 29.400 30.800 29.400 .800 29.400
[_NUO5 30,800 28,400 30,800 28,400 30,800 28,400 800 28,400
[ NU061 30.800 28.400 30.800 28.400 30.800 28.400 .800 28.400
[ NU063 30,800 28,400 30,800 28,400 30,800 28,400 800 28,400
U065 30.800 28.400 30.800 28.400 30.800 28.400 .800 28.400
P (FRE) % | _NU0S0 30,800 28,400 30,800 28,400 30,800 28,400 800 28,400
[_NU052 30.800 28.400 30.800 28.400 30.800 28.400 .800 28.400
[_NU054 30,800 28,400 30,800 28,400 30,800 28,400 800 28,400
[_NU058 30.800 28.400 30.800 28.400 30.800 28.400 .800 28.400
[_NU060 30,800 29,400 30,800 29,400 30,800 29,400 800 29,400
U062 30.800 28.400 30.800 28.900 30.800 .800 28.900
R (PE) =2 HH (CHE) # U021 64.000 | 57.800 64.000 | 57.800 64.000 .000 57.800
T U022 64.000 | 63.800 64.000 [_63.800 64.000 4,000
RR(PA)=AXE HECHE) uo9t 50,100 | 45,100 50,100 | 45.100 50,100 50,100
ARBF U090 42,700 [ 37.500 42,700 [ _37.500 42,700 42.700
KR (BFE) =R AR (BATE) % U083 52,200 800 52,200 52,200 52,200
GiE% U086 = 52.200 800 52.200 52.200 52.200
MR=3EE GIRER) NN uod7 | 3HAT | 3HEI 7.500 .200 7.500 7.500 7.500
S (IR ER) % u 3HEL | 3HAEL | 7 7500 [ _47.300 7.500 7.500 500
HEE(PE)=HR B BEE (PR U .200 |_45,000 .200 .200 .200
u .200 .200 .200 .200
u 200 200 200 200
u .200 .200 .200 .200
T (RE) u 200 200 200 200
u .200 .200 .200 .200
u 200 200 200 200
.200 .200 .200 .200
B LL=;h#8 (AR &) [EIES ,200 ,200 200 200
S (IR ER) % 200 .200 .200 200
W RH) =H1E RE) £ .100 .100 .100 .000
13.400 12.700 700 700
12,700 12700 700 400
12.700 12.700 12.700 400
12,100 12,100 12,100 000
12.100 12.100 12.100 000
12,100 | 11 12,100 | 11 12,100 | 11 000
AER 12.100 | 11 12.100 | 11 12.600 | 12 600
12,100 12,100 12,600 600
12.100 12.100 12.100 000
12,100 | 11 12,100 | 11 12,100 000
12.100 | 11 12.100 | 11 12.600 600
12,600 12,600 13.400 .400
12.600 12.600 13.400 .400
R =E s LIRS 11700 11,700 11700 .700
11,700 | 11 11,700 | 11 11,700 | 11 .700
11,700 11,700 11700 .700
11.700 11.700 11.700 .700
11,500 11,500 11500 500
11.500 11.500 11.500 500
11,500 11,500 11500 500
11.500 11.500 11.500 500
EEES 12.900 12.900 12.900 900
12.900 12.900 12.900 .900
11,700 11,700 11700 .700
11.700 11.700 11.700 .700
12,900 12,900 12.900 900
12.900 12.900 12.900 .900
12,900 12,900 12.900 900
12.900 | 11 12.900 | 11 12.900 | 11 .900
PR GBE =AXE EEIE RS 10.600 | 10 10.600 | 10 10.600 | 10 600
10,600 10,600 10,600 10,600
AkBH 10.600 10.600 10.600 10.600
10,600 10,600 10,600 10,600
10.600 10.600 10.600 10.600

JTA
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. N N Ny 8/17 8/18 ]
= . WZ: A WZ: b *#‘Zj]’ 9 *%:: TS A 6 57 O A7 O sy A sy 6 317 O EA7D
B AAB0E | BN AAOR | BA MR | BEAMAER ErEA | EWE | EAAE | BN | EAE | E6S | ENE | EAE
S (IR ER) % U090 — 40700 33.400 40.700 33.400
KBk (BI7E) % |_NU0OT 38,200 35,500 38,200 35,500
[_NU00S 38.200 35,500 38.200 35,500
U009 38,200 35,500 38,200 35,500
TR GIREE % | _NU002 38.200 37,000 38.200 37.500
[_NU004 38,200 37.500 38,200 37.500
U008 38.200 37.500 38.200 37.500
WRCRR) =R\ HR(FH)F uo7 63.400 59,000 63.400 59,000
uo7: 63.400 59.500 63.400 59.500
hiER Uo7 63.400 59.500 63.400 59.500
Uo7 63.400 59.500 63.400 59.500
1EE=0 % (BBE) @M% | _NU05 30,800 28,400 30,800 28,400
U0S! 30.800 29.400 30.800 29.400
[_NUO5 30,800 28,400 30,800 28,400
[ NU061 30.800 28.400 30.800 28.400
[ NU063 30,800 28,400 30.800 28,400
U065 30.800 28.400 30.800 28.400
FPEGRER) F | _NU050 30.800 28.400 30.800 28.400
[_NU052 30.800 28.400 30.800 28.400
[ NU054 30,800 28,400 30.800 28,400
[_NU058 30.800 28,400 30.800 28.400
[_NU060 30,800 29,400 30.800 29,400
U062 .800 28,900 .800 28,900
RRECAR)=8H R (HH) U021 — .000 .000 57.800
EHER U022 .000 .000 | 57.800
RERCAE)=AXE R (HH) % U091 100 | 40700
AKBH U090 .700 36.400
KR (B#)=F18 ABR (BATE) 5 U083 200 | 48.800
HiE% U086 52.200 48,800
M= EE () NN U037 | 3HHI EEET] 7.500 | 46700
gl BB % | NU 388 | 3H& | 7 7,500 [_46.700
BEE (PR =H4E (BH)| BHE (PE) R [_NU .200 [ 41,
u .200 [_41.000
u .200 30,700
u .200 [ 30700
RE) £ U .200 | 41.000
u .200 |_45.000
u 200 |_45.000
u .200 45,000
FEIL=3#8 GIRER) Fi LI 5 EEE] .200 39,400
EXIER LD 38E | 7 .200 [ 40,000
W RH) =H1E RE) £ 000 [ 11.100
400 [ 11
B B 400 [ 1.
= 400 [ 11
B 000 [ To.
= 000 9.
B 000 [ 11
AER = 600 [ 11
B 600 [ 11
= 000 [_10.
B 000 [ 1o
= 600 [ 11
B .400 [ 2.
= 400 11,
() =B ik () R B8 .700 |10,
= 1.700 [ _10.
B 1.700 [ 1o.
= 1.700 |10
B 1.500 [ 10
= 1.500 |10
B 1.500 [ 10
= 500 |10
EEES = 900 [ 10
= .900 |10
B .700 [ To.
= .700 [ 10,
B 900 [ 0.
= 900 [ 10.
B 900 [ 0.
B .900 10.
RGBT =AKE | R (I 3 3H 5 600 [ 0.
38 78 600 9,900
AkBH 38 78 600 10.400
38 78 600 10,400
38 78 600 10.400




MEEZS21 1 EEXRTRAI~11BEED)

EREAE 2019/04/26 ~
7/1-11
=R B4 BEMTE
F8 s B0 =
AR il CIE "
KR (%) =048 (FR¥) | ABR(BAF) % [ _Nuooi 29900 | 27% |%:31.200, £:32.300. H:29.000
NU005 900 | 68% 3300
NU009 .900 | 66% 3:15.100
FPEE(RER) F | _NU002 .900 66% 3:15.100
NU0O04. 900 | 68% X:13.600. H:15.100
NU008 900 | 27% 8,800, +:29,500. H:32.400
R (FE)=-HE HRCHE) % [ NU0TI 100 | 65% 29,600, H:26.200
NUO73 1.600 H:23.700
BER NUO70 100 | 66% 24,100, £:25.200, H:26.200
NUO76 600 | 64% 29,200, H:42.000
== R E) (RS NUO51 100 | 64% 100
NU053 300 | 60% 400
NU057 100 | 64% 100
NUO61 600 | 65% 600
NU063 600 | 65% 600
NUO65 600 | 65% 600
A GIRE) % [_Nuoso 600 | 65% 600
NU052 600 | 65% 600
NUO54. 600 | 65% 600
NUO58 600 | 65% |+ H:12600
NU060 100 | 64% 2600, £+ H:13.100
NU062 100 | 64% |+ H:13.100
R (FE)-EH B CRIE) % | NU021 25700 | 60% 6.600, H:29.600
EER NU022 5700 | 60% |+:27.600. H:36.600
KR (@) =RHE KR (BA7E) % | NU083 0.600 | 46% |£:33.300. £:34.400
HiER NU086 1.900 | 61% 22,900, £:23,600, H:24.600
M= (FRE) AT NU037 700 | 49% |+ H:29.400
S8 (GB®) & | NU036 700 | 49% |% -t B:29.400
BEE (PED)=H4E (FRER)| B2 (P&D) [ _NU043 .000 65% | £:30.800. % +:37.500. H:17.400
NU045 000 | 65% |
NU047 300 | 64%
NU049 .300 64% A -2
A GRE % [ Nuod2 400 | 62% |JkA:16.300, £:16.900
NU044 400 51% [ :21.900. 7K:16.300, A :16.900. H:26.000
NU046 000 | 65% |H%:16.500, £:17.400. H:34.600
NU048 000 | 65% |F:16.900, £:16.400, £:17.400, H:19.900
L= (FRE) LU 5 NUOT 1 29000 | 29% |£+:32.100
SR (GB®) 5 | NUO16 29,000 | 29% |H:32.100
HEE (B =R1E AR % [ NU601 9.400 65% | H+:9.700
NU605 10.100 | 63%
NU607 10.100 | 63%
NU609 10.100 | 63%
NU617 .900 67%
NU621 B 600 68%
NU625 B .200 66%
aiER NU600 B 200 66% | H:9.500
NU608 B 500 65% | £:9.800
NU610 B 600 68%
NU612 B 600 68%
NU614 B 500 65%
NU622 B 10.100 | 63%
NU626 B 10.100 | 63%
HEGRE)=EE JPHE(FRE) 5 [_NUSS51 B .400 55% | Kok 7:9.200
NU557 B 400 55% | RIK7:9.200
NU559 B 400 55% | kIKA:9.200
NU563 B 200 56% :9.400
NU565 B 500 59% 8.700
NU567 B 500 59% 0
NU571 B 500 59% H:8.700
NU573 B 500 59% H:8.700
BER NU552 B .400 55% %:9.200
NU556 B 400 55% %:9.200
NU558 B .700 58% A:8.500
NU560 B 700 58% :8.500
NU562 B 400 55% :9.200
NU564. B 400 55% %:9.200
NU566 B 400 55% :9.200
NU572 B 400 55% | RIKA:9.200

JTA
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7/16-24
=R B4 BEMTE
F8 wxE B0 =
AR il CIE "
4 GIRER) % | NU09O 400 | 66%
ENAGCE ) 600 | 20% |£::33.900. £:34.400. H:32.400
NU005 1900 | 68%
NU009 .900 | 61% [EH:17.100
BRI % [ _NU002 900 | 61% [+ H:17.100
NU004 900 | 68% |AX:13,500. H:17.100
NU008 600 | 20% [£:31.500. £:32.100, H:34.400
WRCRR) =R\ HR(PE)H | _NU0TI .600 60% | 1+:42.400. H:29.600
NUO73 26100 | 62% 28.100
AER NU070 26600 | 61% 28,600, H:29,600
NU076 28100 | 59% |+:30.100. H:32.000
1BRE=h 4% (BRER) [EEES NUO51 3,600 59% |+ H:14.600
NU053 4700 | 56% [+ H:15.800
NUO57 .800 | 58% [+ H:14.800
NU061 300 | 60% [+ H:14.300
NU063 .300 | 60% :14.300
NU065 .300 [ 60% 300
FP#E(FRER) R |_NU050 .300 60% .300
NU052 .300 [ 60% :14.300
NUO054. 300 | 60% |+ H:14.300
NU058 300 | 60% [+ H:14.300
NU060 800 | 58% 4,300, £ 1 B:14,.800
NU062 000 | 58% [+H:15.100
RRECAR)=8H A CRIEH) S | NU021 .000 55% | 1:40.900. H:31.000
EHER NU022 26500 | 59% 28500, H:40.900
RRECPAE)=AXRE A CFIEH) S | NU091 31,600 42% | k7K:33.700, £ +:36.700. H:30.600
AKBH NU090 19.400 [ 65%
KR (B#)=HiE ABR (B7E) % | NU0B3 33900 | 40% |%:36.600. £:37.800
HiE% NU086 700 [ 57% 25700, £:26.400, H:27.400
MR=3EE GIRER) NN NU037 .700 49% | %+ H:29.400
S48 GIRER) % | NU036 700 | 49% -+ B:29.400
BHEE (PE) =048 (BBH)| & EE (P AR F[_NU043 .300 60% [£:22.800. + H:24.200
NU045 22800 | 50% |kJK:18.300, £:24.800. T H:24.200
NU047 7500 | 62% |XJKA:16.900, %:18,000
NU049 7500 | 62% | JKIKA:16.900, £:37.500
TR GRER) F | _NU042 .000 61% [/kKKR+:16.900. £:17.500
NU044. .300 | 60% |A:23.300. k:31.300, 7K:27.700, £:19.700. H:26.000
NU046 300 | 60% [+ H:19.700
NU048 300 | 60% [+ H:19.700
FEIL=3#8 GIRER) Fi LI 5 NUO11 4,200 16% 37.300
S48 (IRE) % | NUOT6 4.200 | 16% 7.300
W (BF)=1E ik (RER) % [ NUGOL 9.700 64% £:10.000
NU605 10.300 | 62%
NU607 B 10.300 | 62%
NU609 B 10.300 | 62%
NU617 B .900 67% | X:9.200
NU621 B 600 68%
NU625 B 500 65%
aER NU600 B 500 65% | H:9.800
NU608 B 700 64% |£:10,000
NU610 B 600 68%
NU612 B 600 68%
NU614 B .800 68%
NU622 B 10.300 | 62%
NU626 B 10300 | 6
B RT) =2 G B (IR 5 [_NUS51 B 700 54% | IKA:9.500
NU557 B .700 5 kK #:9.500
NU559 B 700 54% | AIKA:9.500
NU563 B 500 55
NU565 B .900 57%
NU567 B .900 57
NU571 B .900 57%
NU573 B .900 57 .
EEES NU552 B 700 54% | KIKF:9.500
NU556 B .700 54% | KIKA:9.500
NU558 B 100 56% | JK7:8.900
NU560 B .100 56% | JkIKA:8.900
NU562 B 700 54% | kK:9.500
NUS564. B .700 5 XIKA:9.500
NU566 B 700 54% | RIKF:9.500
NU572 B .700 5 K IKA:9.500
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7/25-31
=R B4 BEMTE
F8 wxE B0 =
AR il CIE "
4 GIRER) % | NU09O 400 | 66% [7k:15.400
ABR (BI#E) % | _NU0O1 1400 | 16% | AA:32.600. £:33.900. H:32.400
NU005 1900 | 68% [
NU009 .900 1% |4 $17.100
BRI % [ _NU002 .900 E 117100
NU004 500 7% 4 . H:17.100
NU008 400 [ 16% :31.500, £:32.100
WRCRR) =R\ HR(PE)H | _NU0TI .600 60% H:29.600
NUO73 26100 | 62% 28,100
AER NU070 26600 | 61% |/ 8,600, H:29.600
NU076 28100 | 59% | 0.100. H:32.000
1BRE=h 4% (BRER) [EEES NUO51 3,600 59% |7 +14.600
NU053 4700 | 56% |} 800
NUO57 .800 | 58% [ 800
NU061 300 [ 60% [ 300
NU063 300 | 60% |/ ,300
NU065 300 [ 60% [ 300
R (FRER) S |_NU0SO 300 60% |7} 300
NU052 .300 [ 60% [ 300
NUO054. .300 | 60% |4 ,300
NU058 300 [ 60% [} 300
NU060 800 | 55% 300, K A:13.800, K:17.100
NU062 000 | 58% [7k:17.400 100
RRECAR)=8H HRCHE) % | NU021 .000 55% | 7k:31.600 0.900, H:31,000
EHER NU022 26500 | 59% |7K:29.100. £:28.500, H:36.600
RRECPAE)=AXRE A CFIEH) S | NU091 33.700 39% |7k:31,700, % +:36.700. H:30,600
AKBH NU090 19.400 | 65% [7k:18.400
KBz (B#E) =R 1E KBR (FA78) % | NU083 33.900 40% | :k:36.500. 7k:37.900. £:36.600. 1:37.800
HiE% NU086 700 [ 57% 25700, 7K:27.000, +:26.400, H:27.400
MR=3EE GIRER) NN NU037 .700 49% | %+ H:29.400
S48 GIRER) % | NU036 700 | 49% |2+ H:29.400
AR (PER) =048 (IR E)| &&= (hER) 5 |_NU043 .300 60% _|7k:22,000, A#£:23.300. £ H:24.200
NU045 22800 | 50% |X:18.300, 7K:22. 4,800, 1:26.200, H:24.200
NU047 7500 | 62% |KA:16.900, 7k: :
NU049 7500 | 62% | KA:16.900, sk .
TR GRER) F | _NU042 .000 61% [/kKK+:16.900. £:17.500
NU044. .300 | 49% [7k:27.000. £:34.000. H:35.800
NU046 .300 | 60% |7k:22,000. £:21.700, H:19.700
NU048 .300 | 60% [7k:22.000. £:22.900. H:26.000
FEIL=3#8 GIRER) Fi LI 5 NUO11 4,200 16% [JK +:37.300
S48 (IRE) % | NUOT6 4.200 | 16% [7KH:37.300
W (BF)=1E ik (RER) % [ NUGOL 9.700 64% £:10.000
NU605 10.300 | 62%
NU607 B 10.300 | 62%
NU609 B 10.300 | 62%
NU617 B .900 67% [7k:9.400
NU621 B 600 68%
NU625 B 500 65%
aER NU600 B 500 65% | H:9.800
NU608 B 700 64% |£:10,000
NU610 B 600 68%
NU612 B 600 68%
NU614 B .800 68%
NU622 B 10.300 | 62%
NU626 B 10300 | 6
B RT) =2 G B (IR 5 [_NUS51 B 700 54% | IKA:9.500
NU557 B .700 5 kK #:9.500
NU559 B 700 54% | AIKA:9.500
NU563 B 500 55
NU565 B .900 57%
NU567 B .900 57
NU571 B .900 57%
NU573 B .900 57 .
EEES NU552 B 700 54% | KIKF:9.500
NU556 B .700 54% | KIKA:9.500
NU558 B 100 56% | JK7:8.900
NU560 B .100 56% | JkIKA:8.900
NU562 B 700 54% | RIKF:9.500
NUS564. B .700 5 K IKA:9.500
NU566 B 700 54% | RIKF:9.500
NU572 B .700 5 K IKA:9.500
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8/2-8
=R B4 BEMTE
F8 wxE B0 =
AR il CIE "
4 GIRER) % | NU09O 400 | 68% |7k:21.200. 7:16.700, H:18.700
KB (B8#E) $ | _NU001 .500 28% | A:31,300
NU005 700 | 66% |7k:17.200. 7:14.000, H:17.800
NU009 500 | 57% |A:19.500. £ H:18.800
BRI % [ _NU002 7500 | 57% |+ H:18800
NU004 3500 | 67% [7K:16.800. H:17.500
NU008 29400 | 28% |A:27.500, H:34.700
WRCRR) =R\ HR(FHE)F | _NU0TI 41,900 39% 33,400, F F:32.400
NUO73 28800 | 58% 30.900
RIEH NU070 30.300 56% 32.400
NU076 2.800 | 52% 4,900, H:35.400
1BRE=h 4% (BRER) EEEES NUO51 6.600 50% 7.300. + H:17.600
NU053 7600 | 47% +17.500, £ B:18.500
NUO57 7.000 | 49% H:17.900
NU061 600 | 50%
NU063 600 | 50%
NU065 600 | 50%
FP#E(FRER) R |_NU050 .600 50% | A:17.300, + H:17.600
NU052 600 | 50% |A:17.300, £ H:17.600
NUO054. .600 | 50% 3:17.600
NU058 600 | 50% 3:17.600
NU06O 600 | 47% |sK£:18.100. £:19.000, H:18.600
NU062 600 | 50% |7k:17.400. 7:19.300. £ B:17.600
RRECAR)=8H A CRIEH) S | NU021 .800 35% [A:43.100, #:31.600, £ H:33.700
HER NU022 400 | 50% | At H:36.600
RRECPAE)=AXRE A CFIEH) S | NU091 .700 42% |7k:33.700. K:34.700, & +:32,700
AKBH NU090 400 | 66% |k:24.200. A:19.700, H:21.700
KBz (B#E) =R 1E KBR (FA78) % | NU083 3.900 40% | :k:36.500, 7k K:37.900, £:36.600, 1:37.800
HiE% NU086 28000 | 51% |4 29,700
MR=3EE GIRER) NN NU037 33.800 30%
S48 GIRER) % | NU036 33800 | 30%
BEE (PED) =ik (FRE)| B &R (PED) |[_NU043 26.500 42% 27,900
NU045 27000 | 41% . £:28.500. H:28.400
NU047 22000 | 52% 23,400
NU049 22000 | 52% :37.500. + B:23.400
TR GRER) F | _NU042 22,000 52% 23,400
NU044. 27000 | 41%
NU046 26,000 | 43%
NU048 22000 | 52%
FEIL=3#8 GIRER) Fi LI 5 NUO11 39,300 4%
S48 (IRE) % | NUOT6 .300 %
W (BF)=1E ik (RER) % [ NUGOL 400 62%
NU605 .800 | 60%
NU607 B 800 | 60%
NU609 B 800 | 60%
NU617 B .200 2%
NU621 B 9.800 4% | H:10.000
NU625 B 10.200 2%
aER NU600 B 10.200
NU608 B 10.200 w_[%:10500
NU610 B 9.800 H:9.900
NU612 B 9,800 % | H:9.900
NU614 B 10.200 2
NU622 B 10.800 | 60%
NU626 B 10.800 | 60%
B RT) =2 G B (IR 5 [_NUS51 B .900 53% | k:9.700
NU557 B .900 53k | kok:9.700
NU559 B .900 53% | RIK7A:9.700
NU563 B .700 54% | H:9.900
NU565 B 100 56% | % H:9.300
NU567 B .100 56% 00
NU571 B 100 56% H:9.300
NU573 B .100 56% .300
EEES NU552 B .900 53% | KIK7:9.700
NU556 B .900 53% | KIKA:9.700
NU558 B 300 56% | KIKA:9.100
NU560 B .300 56% | JkIKA:9.100
NU562 B .900 53% | RIK7A:9.700
NUS564. B .900 53% | kIKA:9.700
NU566 B .900 53% | RIKA:9.700
NU572 B .900 53% | kIKA:9.700
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8/19-25
[=475] B% HBEMIE
F8 wxE B0 =
AR il CIE "
4 GIRER) % | NU09O 700 | 59% [£:15.400. & H:20.700
ABR (BI#E) % | _NU0O1 000 | 29% |A:22,700. #:26.700. £:29.400. H:25.100
NU005 .000 | 68% |A:13.500, H:16.100
NU009 .900 | 61% [+ H:17.100
BRI % [ _NU002 900 | 61% [+ H:17.100
NU004 500 | 67% 4900, H:16.100
NU008 29000 | 29% |H:31.200. £:26.100, +:26.000. H:27.500
WRCRR) =R\ HR(FHE)F | _NU0TI 27.600 60% | /:29.400. 1 H:29.600
NUO73 26100 | 62% |+ H:28.100
AER NU070 26600 | 61% |H:27.600. £:28.600. H:29.600
NU076 7.600 | 60% 2,900, A+:31.100. H:29.600
1BRE=h 4% (BRER) [EEES NUO51 3,700 59% |+ H:14.700
NU053 4,900 | 55% .000
NUO57 .800 | 58% 800
NU061 .300 [ 60% 300
NU063 .300 | 60% .300
NU065 .300 [ 60% 300
FP#E(FRER) R |_NU050 .300 60% .300
NU052 .300 [ 60% :14.300
NUO054. .300 | 60% [+ H:15.000
NU058 .300 | 60% |A:13.800. £:14.300, H:15.000
NU060 4800 | 55% |+:15300. H:15.800
NU062 3900 | 58% [+ H:14.900 _
RRECAR)=8H A CRIEH) S | NU021 1,500 51% 33,500
EHER NU022 26500 | 59% 28,500
RRECPAE)=AXRE A CFIEH) S | NU091 33,500 39% 34,300, H:32,500
AKBH NU090 22700 | 59% 23,700
KBz (B#E) =R 1E KBR (FA78) % | NU083 29.200 49% | :28. 1,200, £:32,000
HiE% NU086 25700 | 55%
MR=3EE GIRER) NN NU037 7.600 43%
S48 GIRER) % | NU036 7.600 | 43%
BHEE (PE) =048 (BBH)| & EE (P AR F[_NU043 4,700 46%
NU045 4.700 | 46%
NU047 20200 | 56% :21,500
NU049 20200 | 56% 5000, & H:21.500
TR GRER) F | _NU042 20.200 56% :21,500
NU044. 25200 | 45% 26.500
NU046 24200 | 47% |+ H:25.500
NU048 20200 | 56% 4700, £ H:26.000
FEIL=3#8 GIRER) Fi LI 5 NUO11 28,500 30% [£+:31.600
S48 (IRE) % | NUOT6 28500 | 30% 1.600
W (BF)=1E ik (RER) % [ NUGOL .200 62% 0,400
NU605 400 [ 62%
NU607 B 400 [ 62%
NU609 B 1400 | 62%
NU617 B 9.200 66%
NU621 B 7.300 7
NU625 B 10.200 3
aER NU600 B 10.200 :10.500
NU608 B 10.200 w_[%:10500
NU610 B 8.900 7
NU612 B 8.900 7
NU614 B 9.200 66
NU622 B 10400 | 62%
NU626 B 10400 | 62%
B RT) =2 G B (IR 5 [_NUS51 B 800 53% | IKA:9.600
NU557 B .800 53% | kok7:9.600
NU559 B 800 53% | AIKA:9.600
NU563 B .600 54
NU565 B .000 57%
NU567 B .000 57
NU571 B .000 57%
NU573 B .000 57 .
EEES NU552 B 800 53% | KIK7K:9.600
NU556 B .800 53% | KIKA:9.600
NU558 B .200 56% | JK7:9.000
NU560 B .200 56% | JkIKA:9.000
NU562 B 800 53% | RIK7:9.600
NUS564. B .800 53% | KIKA:9.600
NU566 B 800 53% | RIK7:9.600
NU572 B .800 53% | kIKA:9.600
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8/26-31
=40} B4 BEMTE
F8 wxE B0 =
AR il CIE "
4 GIRER) % | NU09O 200 | 62% [+:20.700
ABR (BI#E) % | _NU0O1 .000 | 29% |3:25.800. #:26.300. £:30.400
NU005 500 7% | £:14.500
NU009 .900 1% [+£:15.400
BRI % [ _NU002 .900 1% | £:15.400
NU004 500 7% | £:14.400
NU008 29000 | 29 25700, £:25.100
WRCRR) =R\ HR(CFE) % |_NUOTI 27.600 29.100, £:27.200
NUO73 26,100 | 62% |+:25.700
AER NU070 26600 | 61% 7,600, £:26.200
NU076 7.600 | 60% |:31.100, £:28.200. £:30.100
1BRE=h 4% (BRER) [EEES NUO51 3,700 ,100
NU053 4.900 200
NUO57 .800 200
NU061 300 700
NU063 300 700
NU065 .300 .700
FP#E(FRER) R |_NU050 .300 .700
NU052 .300 700
NUO054. .300 400
NU058 .300 800, £:12.700
NU060 4,800 700
NU062 3.900 300
RRECAR)=8H A CRIEH) S | NU021 1.500 33.500
EHER NU022 26.500 1400, £:37.100, £:33.300
RRECPAE)=AXRE A CFIEH) S | NU091 33,500 .300, +:33,700
AKBH NU090 21.200 700
KR (BFE) =R ANk (BAFE) % | NU083 29.200 £:31.200, £:31,400
HiE% NU086 25700 25,300
MR=3EE GIRER) NN NU037 7.600 1:30.500
S48 GIRER) % | NU036 7.600 £:30.500
BEE (PED) =ik (FRE)| B &R (PED) |[_NU043 4,700 22,300
NU045 4,700
NU047 20200 | 56% |+:17.800
NU049 20200 | 56% |£:35.000. £:17.800
TR GRER) F | _NU042 20.200 56% | 1+:21.500
NU044. 25.200 22,800
NU046 24,200 +£:25,500
NU048 20.200 £:24.700, £:22.300
FEIL=3#8 GIRER) Fi LI 5 NUO11 28.500 30% | % +:31,600
S48 (IRE) % | NUOT6 28500 | 30%
W (BF)=1E ik (RER) % [ NUGOL .200 62% 600
NU605 400 [ 62% 400
NU607 B 400 [ 62% 400
NU609 B 400 | 62% 400
NU617 B 8.800 68% 0
NU621 B 7.300 7
NU625 B 10.200 s |£+:0,600
aER NU600 B 10.200 £:8.400, £:8.200
NU608 B 10.200 2 |£:8.200, +:8.000
NU610 B 8.900 7
NU612 B 8.900 7
NU614 B 8.800 68
NU622 B 10400 | 62%
NU626 B 10400 | 62%
() =B FPEE(RER) F |_NUS51 B .800 53%
NU557 B .800 53%
NU559 B 800 53%
NU563 B .600 54
NU565 B .000 57%
NU567 B .000 57
NU571 B .000 57%
NU573 B .000 57
EEES NU552 B 800 53%
NU556 B .800 53
NU558 B .200 56%
NU560 B .200 56%
NU562 B 800 53%
NUS564. B .800 53%
NU566 B 800 53%
NU572 B .800 53%
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Ny 7/12 7/13 7/14 7/15
- @ | TME (| A E | BEIMIE| BEMTE
AR T
ShiH (IBER) 5 U090 —_ 26.200
KB (B87E) & | _NU001 28.800 36.500
[_NU00S 21,000 | 24.000
U009 25,600
% (APFR) R |_NU002 23.400
[_NU004 19,900
U008 26,300
RR(CRE)=R1E HR(PE) Uo7 .800
uo7: 700
HER Uo7 .000
Uo7 500
1RRE=i0 48 (RE) EEEES NUO5 23,500
23,500
23,500
23,000
23,000
23,000
R (FRER) & |_NUOSO 23,000
23,000
23,000
23,000
23,000
23.200
RRECAR)=8H EFACCTENES U021 63.700
EHER U022 40,600
RERCAE)=AXE R CHE) U091 —
AKBH U090 —
KR (BFE) =R KB (BA7E) 5 U083 7.100
HiE% U086 6.100
MR=3EE GIRER) NN U037 7.200
Shif (IRER) U 4.600
BEE (PR =448 (BH)| 2 E (P ED) R _NU 8.600
u 8.600
u 4,000
u 7.500
ik (RER) R U 2.500
u 29.800
u 29,800
u 29,800
FEIL=3#8 GIRER) Fi LI 5 uot 37.300
shif (IRER) uot 34.200
B (R|=H1E MR (IS # | _NU60 10,500
9.900
[_NU607 B 9.900
NU609 18 11.300
NU617 1H 10.300
NU621 18 9.800
NU625 1H 9,800
AER NU600 18 10.500
NU608 1H 10,500
NU610 18 7.300
NU612 1H 7.300
NU6T4 18 9.800
NU622 1H 9.800
NU626 18 11.300
() =B MR (IE) F | _NUS51 1H .700
NU557 18 700
NU559 1H 700
NU563 18 700
NU565 1H 600
NU567 18 600
NU571 1H 600
NU573 18 .900
EEES NU552 1H 700
NU556 18 .900
NU558 1H 600
NU560 18 600
NU562 1H 10,000
NU564 18 9.700
NU566 1H 9700
NU572 1= 9.700
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o 8/1
= g |TME e
F6 EEE
RS A SRR i
R CRE) = GIBER) | ik (BT F U090 15.400
KR (BE) =348 (FRE) | KB (BSEE) % | _NU0OI 35,300
[_NU00S 3.700
U009 7.500
bk (FRER) % [ _NU002 7.500
[_NU004 500
U008 300
RR(CRE)=R1E HR(PE) Uo7 .300
uo7: 28,800
HER Uo7 30.300
Uo7 2.800
1RRE=i0 48 (RE) EEEES |_NU05 6.600
[_NU05 7.500
[_NUO5 .900
[_NU061 600
[ NU063 600
U065 600
R (FRER) & |_NUOSO 600
[_NU052 600
[ NU054 600
[_NU058 100
[_NU060 7.600
U062 600
RRECAR)=8H EFACCTENES U021 .600
EHER U022 .200
RRECPAE)=AXRE B CRIH) $¢ U091 .700
EE U090 .400
KR (BFE) =R KB (BA7E) 5 U083 .900
HiE% U086 28,000
MR=3EE GIRER) NN U037 31,400
Shif (IRER) U 31.400
BEE (PR =448 (BH)| 2 E (P ED) R _NU 26.500
u 26.500
u 22,000
u 22,000
ik (RER) R U 22,000
u 22,000
u 26.000
u 22,000
FEIL=3#8 GIRER) Fi LI 5 uot 37.300
shif (IRER) uot 37.300
SRR =R1E TP (RER) R | _NU60 9.700
|_NU605 10.300
[_NU607 B 10.300
NU609 18 10.300
NU617 1H 400
NU621 18 600
NU625 1H 500
AER NU600 18 500
NU608 1H 700
NU610 18 600
NU612 1H 600
NU6T4 18 800
NU622 1H 10.300
NU626 18 10.300
() =B FPEE(RER) | _NUS51 1H .500
NU557 18 500
NU559 1H 500
NU563 18 500
NU565 1H .900
NU567 18 .900
NU571 1H .900
NU573 18 .900
EEES NU552 1H 500
NU556 18 500
NU558 1H .900
NU560 18 .900
NU562 1H 500
NU564 18 500
NU566 1H 500
NU572 1= 500




MEEZI521 1 EER(BAI~16BEBED)

EREAE 2019/04/26 ~
Py IV 8/10_ 8/11_ 8/12_ 8/13_ 8/14_ 8/15_ 8/16_
=40} B4 BETE | BEMIE| BEMIE| BEMIE | BEMIE| BEMIE| BEMIE| BEMIE
Gaom | SR | wRe | mEe | sAe | ewe | oRam | sms | eEe
4 GIRER) % | NU09O 28100 24,700 28,800 28,800 32.500 35,100
KB (B37E) % |_NU0OT 600 37,900 38,000 32,500 28,200 24,200
[_NU00S 500 28.500 29.900 17.400 17.400 17.000
U009 .700 .400 20.100 17.400 30.200
P8 (FRTR) % |_NU002 .400 400 30.200 29,600
[_NU004 .200 | 18,000
U008 700 700
RR(CRE)=R1E HR(PE) Uo7 700 | 45300
uo7: .200 100
hiER Uo7l .200 | 40,200
Uo7 700 .700
1= (RE) EES NUO5 500 | 27.300
25.100 7.300
23,900 26,300
20.900 1400
17.500
20.900
MR (ARE) F | _NU050 22,600
22,000
22,200
22.200
23,700
23,800
RRECAR)=8H EFACCTENES U021 59,000
EHER U022 43.900
RRECPAE)=AXRE EFACRTENES U091 39,600
AKBH U090 1.100
KR (BFE) =R KB (BA7E) 5 U083 8.600
HiE% U086 1.900
MR=3EE GIRER) NN U037 7.500
Shif (IRER) U 7.500
BEE (PR =448 (BH)| 2 E (P ED) R _NU 9.400
u 39.400
u 30,900
u 40.900
ik (RER) R U 28.300
u 35,000
u 33,500
u 33,500
FEIL=3#8 GIRER) Fi LI 5 uot 39,900
shif (IRER) uot .300
W RH) =H1E TP (RER) R | _NU60 400
.800
[_NU607 B .800
NU609 18 .800
NU617 1H .400
NU621 18 .200
NU625 1H .300
AER NU600 18 .200
NU608 1H .200
NU610 18 9.900
NU612 1H 9.900
NU6T4 18 .200
NU622 1H 800
NU626 18 .800
() =B FPEE(RER) | _NUS51 1H .500
NU557 18 500
NU559 1H 500
NU563 18 500
NU565 1H 500
NU567 18 500
NU571 1H 500
NU573 18 500
EEES NU552 1H .900
NU556 18 .900
NU558 1H 300
NU560 18 300
NU562 1H .900
NU564 18 .900
NU566 1H .900
NU572 1= .900
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Ny 8/17 8/18
- g | TME e | mEMTE
g | EEE | EAE
S48 (BB % | NU09O 33.300
KBk (BI7E) % | _NUOOT 23,300
[_NU00S 13.900
U009 24,300
PHE(FREH) % |_NU002 28.200
[_NU004 .700
U008 600
RR(CRE)=R1E HR(PE) Uo7 .700
uo7: .200
"ER Uo7 100
Uo7 200
1RRE=i0 48 (RE) EEEES NUO5 .000
.700
100
[_NU061 20,600
[ NU063 20,600
U065 21,000
S#E (30 5& |_NU050 16,500
19.800
20,000
20.900
20,900
19.600
RRECAR)=8H A CFIH) 5 U021 44,700
EHER U022 47.400
RRECPAE)=AXRE EFACRTENES U091 36.700
AKBH U090 36.300
KR (BFE) =R KB (BA7E) 5 U083 29,900
HiE% U086 40,000
MR=3EE GIRER) NN U037 33.500
Shif (IRER) U 37.500
BEE (PR =448 (BH)| 2 E (P ED) R _NU 33,600
u 4.100
u 9,500
u .900
ik (RER) R U .500
u .900
u .700
u .700
FEIL=3#8 GIRER) Fi LI 5 uot 9.300
shif (IRER) uot .900
W RH) =H1E TP (RER) R | _NU60 400
.800
[_NU607 B .800
NU609 18 .800
NU617 1H .200
NU621 18 9.600
NU625 1H 0.200
AER NU600 18 .000
NU608 1H .000
NU610 18 500
NU612 1H 500
NU6T4 18 1.000
NU622 1H 2.000
NU626 18 1.500
() =B FPEE(RER) | _NUS51 1H .900
NU557 18 .900
NU559 1H .900
NU563 18 700
NU565 1H 100
NU567 18 100
NU571 1H 100
NU573 18 100
EEES NU552 1H 10,500
NU556 18 10.500
NU558 1H 9500
NU560 18 9500
NU562 1H 500
NU564 18 500
NU566 1H 500
NU572 1= 500
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71T
) 5ITA HEI7B @170 @170
% - & wE i
8 (3% =R 18 AAREL100 AREI0.100
A£:11.100 A£:10,100
SRR -EE 7K:10.800 JK:9.800
JOKA:10.800 KKA:10,100
RECEE

P (B =518

(B -ERKE

i (B3 =5 BE

# (B3 % | RACBTI
[RAC8TS
[RAG8T5
[RAC8TY
[RACSB1
C833
RKBE | RACEIZ2
[RACE74
[RAG8T6
Si@%
[ b (BRI 5 | F
[ BXAeE | F
[ b (RER) 5 | F
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THEEI511/3/7 BER(TA16~24ABRS)

=]

(B3 =8

771624

5ITA

HEITB

HE317D

%

ETE R

RECEE

5 |

E—5H]

BEE "
59%
59%
47% 10.900

5 [JOKAR11.200

ZRE1.300
#:11.300

wE

i

AARH10300

A£:10.300

JK:9.900

KKA:10.200
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7%

7%

SRR =5k

AxgR |

EEEE

7%

315

3%

31

3%

315

31

31

3%

315

3%

Sis

(B -ERKE

i (B3 =5 BE

[ b (BRI 5 | F
| Exxms |F
[ b (RER) 5 | F
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(B3 =8

772531

5ITA

HEITB

HE317D

%

ETE R

RECEE

5 |

E—5H]

BEE "
59%
59%
47% 10.900

5 [JOKAR11.200

ZRE1.300
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